ST3EE HEERFVEFRERSE EREE
O ADE (HAL: 1)
IH H piel V] WHIERE Bk rsis| hE%E YR il B
B 4 3,249,000 0l 3,249,000| 3,249,000 o|F A T PG B HEE 25 (2B 3,249,000
DN YEOFERERKE (H DEEBE
% it & 500,000 ol 500,000 500,000 ] e 500,000
& B 1,600,000] A 85,000 1,515,000 1,525,496| 10,496 %gﬁﬁ(ﬁ]*\ﬁ%‘mmﬁ‘)@g% 1,525,496
= F
% It 4 1,000{  199,000] 200,000[ 200,000 ot #kEE LY %4 200,000
HMEULA 1,000 0 1,000 241 A 976|FEAFIE 24
|22 -4 A 4 Rt (BRI DFEARVEAE
KRl SR A& 260,000 0| 260,000 260,488 488 B ) 260,488
o Iy 2,436,000 0| 2,436,000 2,436,065 65 | AiT4EFE Ml 4 2,436,065
& & 8,047,000]  114,000| 8,161,000| 8,171,073] 10,073
O ZHoE (HfT: )
HH A WIERE Rk TR A | R il L2
%E%i-%%ﬂ IEOFERER KRS 570,267
! fzaﬁf.{gﬁz 840,000 ol 840,000 784,762| 55,2387 L 1F DERET s — 1 196,495
XiE R I — L 18,000
%E%-%f
D EEX % o N
2 piigirtao| 316,000 0| 316,000] 249,012| 66,088|FBEFEIEE) (FAFESIIEIT) 249,012
FEHIZAT -
B
o - [ 2 374,001
3 feo i i’ﬂi;) iiﬁigﬁ%ﬁk
% B S 150,238
iﬁ&?ﬁé& 810,000 o| s10,000f 710,182 99,818/ T
| b BB HEE B IE - B0 9,390
7 € )
BB B RAHEE(O T DY) 176,553
4 FLE FEY - BB RAE YR — 2 — e 0
ORFEZZZ| 480,000 0| 480,000  76,150| 403,850|%-Lt - EH E M R——FRuEFES 50,858
RYNZIPE 357 B s 25,292
s TLb TR 2% #E(*SEJJ/\ODTCH) 379,570
Jcban
A kIR 574,000 Of 574,000| 465,204 108,796 jcar )2 Bkt B HEOME 5 85.634
BIDTEHEAL. : =7 ’
TSEN A 1,866,883
B e = 2,850,000 0| 2,850,000 2,079,020 770,980 |iE By E 19,563
Z DA (BERNE:, ro M B %) 192,574
R 466,721
FHE | FEREEE 712,000 o 712,000 522,202 189,798\ rERIE 4,891
DAt (T {E RN, R ME L, ikE ) 50,590
. L B2 R A (5 5 B R EHE T3 368,000
Wit 4 | BRI S a1 4| 868,000 0| 868,000 868,000 0 R AT
RSt e E D EF RS 500,000
Tl g | Tl 597,000 114,000| 711,000 o 711,000 0
& & 8,047,000]  114,000| 8,161,000| 5,754,532| 2,406,468

U AEES, 171,073 — S HH%E5,754,532H

= N3 ZER|%H2,416,5411




